[image: image1.png]Figure shizae ows an arrangement of caniage system. A force P is applied on the camiage B
a0 moving ightward a3 /" consant acelration. A te st s the sl of B
() (Determine the velocity of B relative to A.

(i) Determine the acceleration of B relative to A

(f) Determine the sbzolute velocity of C, Cariage &

() Determine the absolute acceleration of carriage A

(+) Dstermine the force P and the tension ix the rope if mazs A= 50 kg and mazs B=40 ke
(eglect the mazzes of pulley=, rops and the friction forces at the wheels)




